



Vendor Ranking

Call Order: 010

Page 1 of 1

02200916 Letting:

September 16, 2020 11:00

Contract:

E20D5

District 2 District:

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 60 CALENDAR DAYS

Project(s): 44703135201 (*)

Contract Desc: Railroad Dynamic Envelope Pavement Markings

AM

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TRAFFIC CONTROL PRODUCTS OF FLORIDA, INC.	Responsive	Winning bid	\$41,327.86	100.00%
2	AKCA, LLC	Responsive	Non-Winning Bid	\$44,316.90	107.23%
3	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$49,064.50	118.72%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$75,342.13	182.30%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

Letting:02200916September 16, 2020Call Order:010Contract:E20D5District:District 2Counties:DIST/ST-WIDEFed Aid No: N/A

Contract Time: 60 CALENDAR DAYS

Project(s): 44703135201 (*)

Contract Descr: Railroad Dynamic Envelope Pavement Markings

Support an FDOT directive in compliance with Engineering and Operations Memorandum 19-02 to implement engineering countermeasures on all existing department owned rail corridor crossing and rail crossings on department roadways, "Operation STRIDE" (Statewide Traffic and Railroad Initiative using Dynamic Envelopes). This project will implement dynamic envelopes at all Department roadway and state-owned rail crossings with the Florida East Coast Railway (FEC). EXPERIENCE IN PAVEMENT MARKINGS (FORM 850-070-06) MUST BE COMPLETED AND SUBMITTED WITH THE BID. BID EXPRESS MANDATORY.

	No / Item ID Description	Alternate	Quantity Units	(1) TRAFFIC PRODUCTS OF		(2) AKC	A, LLC	(3) ACME BA	RRICADES LC
	cates item is bid	d as Lump Sum	C ime	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 F	Roadway						
	0101 1 ATION 44703	135201	(1.000) LS	6,060.00000	6,060.00	7,500.00000	7,500.00	7,000.00000	7,000.00
	0102 1 NANCE OF TF 5201	RAFFIC	(41.000) DA (LS)	11,629.00000	11,629.00	7,500.00000	7,500.00	16,000.00000	16,000.00
	0102 14 CONTROL C	OFFICER	16.000 HR	68.00000	1,088.00	60.00000	960.00	65.00000	1,040.00
	0102 60 ONE SIGN		576.000 ED	1.00000	576.00	0.25000	144.00	1.00000	576.00
CHANNE	0102 74 1 ELIZING DEVI M, OR LCD	CE- TYPES I, II,	862.000 DI, ED	0.01000	8.62	0.10000	86.20	0.25000	215.50
		VANCE WARNIN	16.000 NG ED	10.00000	160.00	20.00000	320.00	15.00000	240.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 02200916 Sep	tember 16,	2020 Cal	l Order: 010		Contract:	E20D5	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC PRODUCTS OF		(2) AKC	A, LLC	(3) ACME BAI	RRICADES LC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro	adway						
0035 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	112.000 ED	30.00000	3,360.00	5.00000	560.00	10.00000	1,120.00
0040 0102115 TYPE III BARRICADE	34.000 ED	0.01000	0.34	0.55000	18.70	2.00000	68.00
0045 0999 25	(1.000)	1,000.00000	1,000.00	1,000.00000	1,000.00	1,000.00000	1,000.00
INITIAL CONTINGENCY AMOUNT, DO NOT BID 44703135201	LS						
0001 Roadway Section	on Totals:		\$23,881.96		\$18,088.90		\$27,259.50
SECTION: 0002 Sig	ıning						
0050 0711 14191	454.000	6.50000	2,951.00	10.00000	4,540.00	10.00000	4,540.00
THERMOPLASTIC, PREFORMED, 6" WHITE, RAILROAD DYNAMIC ENVELOPE	LF						
0055 0711 14193	1,079.000	13.10000	14,134.90	20.00000	21,580.00	15.00000	16,185.00
THERMOPLASTIC, PREFORMED, 12" WHITE ON ASPHALT PAVEMENT, RAILROAD DYNAMIC ENVELOPE	LF						
0060 0711 17 1	36.000	10.00000	360.00	3.00000	108.00	30.00000	1,080.00
THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN	SF						
0002 Signing Section	on Totals:		\$17,445.90		\$26,228.00		\$21,805.00



09/24/2020

Tabulation of Bids

Page 3 of 6

Letting:	02200916	September 16,	2020 C a	all Order: 010		Contract:	E20D5	
Line No / Item		e Quantity Units		C CONTROL F FLORIDA, INC.	(2) AK	CA, LLC	(3) ACME B	ARRICADES LC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Contract G	rand Totals:		\$41,327.86		\$44,316.90		49,064.50



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g : 02	2200916	September 16,	2020 Cal	l Order: 010		Contract:	E20D5	
	No / Item ID Description	Alternat	Quantity Units	(4) ROGAR MAI CONSULTING	OF FLORIDA				
() ina	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0005 MOBILIZ	0101 1 ZATION 44703	135201	(1.000) LS	15,000.00000	15,000.00				
0010 MAINTE 4470313	0102 1 NANCE OF TE 35201	RAFFIC	(41.000) DA (LS)	15,000.00000	15,000.00				
0015 TRAFFIO	0102 14 C CONTROL (OFFICER	16.000 HR	100.00000	1,600.00				
0020 WORK 2	0102 60 ZONE SIGN		576.000 ED	1.00000	576.00				
	0102 74 1 ELIZING DEVI JM, OR LCD	CE- TYPES I,	862.000 II, DI, ED	3.00000	2,586.00				
0030 ARROW ARROW	0102 76 / BOARD / AD\ / PANEL	VANCE WARN	16.000 IING ED	100.00000	1,600.00				
	0102 99 BLE CHANGE EMPORARY	ABLE MESSA	112.000 GE ED	45.00000	5,040.00				
0040 TYPE III	0102115 BARRICADE		34.000 ED	10.00000	340.00				
	0999 25 CONTINGENO 0 4470313520		(1.000) DO LS	1,000.00000	1,000.00				





Tabulation of Bids

Page 5 of 6

Letting: 02200916 Se	eptember 16,	2020 Cal	Order: 010		Contract:	E20D5	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROGAR MAN	OF FLORIDA				
() indicates item is bid as Lump Sum		Unit Price LL0	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	Roadway						
0001 Roadway Sec	ction Totals:		\$42,742.00				
SECTION: 0002 S	Signing						
0050 0711 14191	454.000	15.61000	7,086.94				
THERMOPLASTIC, PREFORMED, 6" WHITE, RAILROAD DYNAMIC ENVELOPE	LF						
0055 0711 14193	1,079.000	21.61000	23,317.19				
THERMOPLASTIC, PREFORMED, 12" WHITE ON ASPHALT PAVEMENT, RAILROAD DYNAMIC ENVELOPE	LF						
0060 0711 17 1	36.000	61.00000	2,196.00				
THERMOPLASTIC, REMOVE EXISTIN THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN	IG SF						
0002 Signing Sec	ction Totals:	I	\$32,600.13		ı		
Contract Gra	nd Totals:		\$75,342.13				



09/24/2020

Tabulation of Bids

Page 6 of 6

Letting: 02200916

September 16, 2020

Call Order: 010

Contract:

E20D5

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.